BF50@ T IILA

1R 2R QF SF F
1. W+ &= ( TENNEX W =
2 . BYE ( izt =
3. BYE ( mEE=|
4 EE WS (AR opich e
5 ftE &R (FoRA—TUFM - 62,64
6. AE BE CEEMAR T e E
- G ( enEs
8 . &Il IEA (FARFETC NS 238
9 . =iF (FL2PEILLRTC =15 AR 62,63
10 . BYE ( =15 IAAE
- G ( parws
12 MEK ER Q= IR 2538
3. &N B (FIRTC =iz 55 7662
14. %% #5 (ZZE# Y e s
- 5 ( ngam|
6. IR M8 (= JIE 248
7. 8K £ (WRH(UETTS ok & 63,00
18 .  BYE ( gk =
19. =% BR (FE—Ix O R
20 o 2 (#FAFTC 60,60 gk =
21 E® HE (FRTC — 26,6162
22 . BYE ( R B
23 . BYE ( —BE —fh 64.62
2. —R —H (F¥2RTC Ak =
% #k @&  (RHA—TC ok B Yok
26 . BYE ( =011 ok - W E=(TENNEX)
27. BYE ( o sg]| O il EEHAETO)
28 . X B (F—LFIv= )il =] - BiE BB LUPEILRTO)
29. A BE  (F—LTAS Ja— 6161 ~4. =8 —m(FrozT0)
0. AE FZ  (XBIFT-TG RS (P
31 . BYE ( t)l| B 64.63
32 . )l EE (HAETC



